# St Andrew's Grammar





# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 8th December 2023 Using "G9YQ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

Your home delivery will be dispatched for \$8 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if the order is placed on or before the cut-off date of Friday 8th December 2023.

Orders can still be placed after the cut-off date but will incur a late fee of up to \$17.50 and cannot be guaranteed delivery prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions



# Please tick the items required in the box provided $\downarrow$

		Iter	n	 Item	Qty	Unit	Total
Office Use	Description	No		Reqd	Reqd	Price \$	Amount \$

# Year 4

- + All items marked "retained" can be retained from previous year. + Please label all items individually prior to school commencement.
- + Clearly label all books on the outside cover.

# PERSONAL ITEMS FOR STUDENT USE

	Select LEFT or RIGHT handed scissors	<u>(</u>	Choose One			
P58507	Scissors 155mm Plastic Handle	1		1	2.95	2.95
	OR		_			
P52399	Scissors 165mm Left Handed Green	2		1	2.70	2.70
P55268	Calculator Jastek Basic Compact 8 Digit	3		1	19.10	19.10
	(Retain the above from previous year)					
P55322	Clipfolder A4 PVC Blue	4		1	4.70	4.70
P55464	Display Book A4 20 Pocket Red/Melon Non-Refillable	5		1	4.95	4.95
P55470	Display Book A4 20 Pocket Green/Lime Non-Refillable	6		1	4.95	4.95
P55469	Display Book A4 20 Pocket Blue Non-Refillable	7		1	4.95	4.95
P50272	Document Wallet A4 Polywally Blue Translucent	8		2	3.35	6.70
P58510	Eraser Plastic Pencil Large With Sleeve	9		8	0.40	3.20
P55537	Exercise Book A4 48 Page 9mm Dotted Thirds	10		5	1.30	6.50
P55654	Glue Stick 40gm UHU Blue	11		6	3.35	20.10
P55686	Headset Multimedia With Microphone & Volume Control	12		1	19.95	19.95
	(Retain the above from previous year)					
P50370	Highlighter Marker - Cool Frost Yellow Stabilo Swing	13		5	2.55	12.75
P55828	Markers Crayola Washable Pkt 10 Classic Colours	14		1	8.90	8.90
P56252	Pencils-Coloured 12's Colourush	15		2	4.50	9.00
P56095	Pen Ballpoint Cap Type Blue Medium	16		2	0.35	0.70
P56096	Pen Ballpoint Cap Type Red Medium	17		2	0.35	0.70
P56130	Pen Felt Tip Fineliner Black	18		2	2.85	5.70
P50271	Pencil (HB) Goldfaber	19		15	0.65	9.75
P56237	Pencil Red Checking/Ruling	20		12	0.75	9.00
P56216	Pencil Case 375x264mm 2 Zip Tartan Giant	21		1	4.70	4.70
P50090	Ruler 300mm Wooden	22		2	1.10	2.20
P56451	Scrapbook 335x240mm 64 Page	23		4	2.10	8.40
P56242	Sharpener Pencil Barrel Double Hole (EL)	24		2	2.10	4.20
P55001	Whiteboard with Eraser & Marker (Single)	25		1	17.95	17.95
	(Retain the above from previous year)					
P51665	Whiteboard Marker Artline Supreme Black	26		2	2.25	4.50
P51666	Whiteboard Marker Artline Supreme Blue	27		2	2.25	4.50
P51668	Whiteboard Marker Artline Supreme Red	28		2	2.25	4.50
P51080	Exercise Book A5 64 Page 8mm	29		1	2.10	2.10
P50281	Document Envelope A4 PP With Press Stud Clear	30	$\overline{}$	1	1.25	1.25
P32683	Excel Basic Skills Times Tables 2 Yrs 3-4 [Bev Dunbar]	31	$\overline{}$	1	16.95	16.95
P11262	Blitz For Beginners [Samantha Coates]	32	$\overline{}$	1	19.99	19.99
	(Music)					

# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ALL OTUDENTO DECUMPE					
	ALL STUDENTS REQUIRE					
P34303	NOVELS TO BE ADVISED BY TEACHER  Crommer Conventions Reals 4 45 (V/O O) II O'Prion	22		1	10.05	10.05
F34303	Grammar Conventions Book 4 4E (V9.0) [L O'Brien] New Edition for 2024	33		1	18.95	18.95
P08124	Jacaranda Primary Atlas AC 4E [Jacaranda]	34		1	39.95	39.95
. 00121	(Retain the above from previous year)	34		'	39.93	39.93
P33718	Maths Trek Student Workbook 4 AC	35		1	20.95	20.95
	New Edition for 2024	00		•	20.00	20.00
P12160	Miraculous Journey of Edward Tulane, The [Kate DiCamillo]	36		1	18.99	18.99
P05630	NSW Writing Time 4 Foundation Style Student Practice Book [Rheeder et al]	37	$\overline{}$	1	15.95	15.95
P30035	Oxford Australian School Dictionary (7E) [Mark Gwynn]	38	$\overline{\Box}$	1	19.95	19.95
	(Retain the above from previous year)		_			
P05389	Reading Conventions Book 4 [L O'Brien]	39		1	18.95	18.95
P30078	Sound Waves Spelling Student Book 4 [Firefly Press]	40		1	17.95	17.95
P05166	Think Mentals 4 Student Book [Firefly Education]	41		1	15.95	15.95
	ART					
P55652	Glue Stick 36gm	42		1	2.30	2.30
P56115	Marker Artline #210 Black 0.6mm	43		1	3.80	3.80
P50284	Visual Art Diary A3 Clear Cover 110gsm Cartridge 20lf L/scap	44		1	8.95	8.95
P50271	Pencil (HB) Goldfaber	45		5	0.65	3.25
P51185	Pencils-Watercolour 12's Faber	46		1	8.75	8.75
P56112	Marker Artline #220 Black 0.2mm	47		1	3.80	3.80
P58510	Eraser Plastic Pencil Large With Sleeve	48		2	0.40	0.80
	1 x A2 DISPLAY BOOK WITH PLASTIC SLEEVES (Officeworks \$9.00) 2 BOXES OF TISSUES FROM EACH STUDENT					
	LANGUAGES - GREEK					
P51703	Exercise Book A4 64 Page 9mm Dotted Thirds w/Margin Spirax	49		1	1.60	1.60
P56451	Scrapbook 335x240mm 64 Page	50		1	2.10	2.10
P55654	Glue Stick 40gm UHU Blue	51		1	3.35	3.35
P50371	Display Book A4 20 Pocket Cool Frost Blue Refillable	52	$\overline{}$	1	2.15	2.15
	•		_			

### **MUSIC**

# **PARENTS TO SUPPLY**

- 2 X BOXES OF TISSUES
- 1 X PERSONAL SUNSCREEN
  2 X BOTTLE OF HAND SANITISER 240ML (PURELL)
  3 X ROLLS OF PAPER TOWELS

# THE FOLLOWING ITEMS ARE AVAILABLE FROM THE UNIFORM SHOP:

- 1 X ART SMOCK (RETAINED)
- 1 X HOMEWORK SATCHEL WITH SCHOOL CREST (RETAINED)
- 1 X LIBRARY BAG (RETAINED)

ALL UNIFORM SHOP ITEMS TO BE LABELLED WITH YOUR CHILD'S NAME

# Please tick the items required in the box provided

(PRICES CORRECT AT 24/10/23)

 $\sqrt{\phantom{a}}$ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$8.00 **ESTIMATED AMOUNT DUE** <u>\$</u>

Office Use

Description